] A

Electricity

s Toa § AaE S W T TR @i ) agad! St TEiEel w1 3T e ul, Su qu
TREes § AEAE ¥ T ¥, IO ATE B0 T 6 wpew, vA werd W €, T F1 A € a9
T W % wW W A $) I 0 Aga W 39 faive weiE F 9en W 9ided 0 s 39
@ [ | fFm s E

3.1 @@ o (Electric Current)
WA % st awd W - favars WOEd € w1 e wifed ar gm o seE § S S €
4 v w=a fawa @1 @ @ T fAvA w1 A F AEd @ @1 9 F T YA 9 a% G0 € 99
7% & A 90 7wm fava w3 o

0 AR F WS § e qE SO W £ 3 A Serge agd 9o 6 IaarEl B €, 9
% Tl W oA o @TH W 9 oA B @ fagdd feen | @iw e € (Fig. 3.1)1 UEE ' W
T F R W TRk § S 9t SeE A SEY R WE agd U Fean €, A4id atem
WA AE YA S 59T TE FUE e §

TOERIAER $OEA WA & fagda fam  dmm um w faem @ gwiEn s @
e— g—

E/\E e B—+ B—» E—»
-0 *‘ a—=

No field Field applied
Fig. 3.1

A= g
| ¢
CGS vgfi & urg +1 T == €

1&3@:@
#e w0 @ STwd i & LT

1 T (A) = 3 x 10° iy
oz g = 1 FaE; ¢ = 1 GFvg
™ 1 tferm = 1 Fema wfd G&vs
¥4 9 €, 1 59RE W 1.6 x 10719 e s v

HAl i =

34

Scanned with CamScanner



36 APPLIED PHYSICS-I|

Free electron
' “+—Bpo «—0Bp Alom
o =+—E8 p-=-—=@8
-0 -8 o ,ﬂv

Al

! .

(a) (b)
Fig.3.3
Fig 3.3 % dle2sl V& WG i % 99 % WaIv €1 VE W | % WY T | T AT € S siem
& frm 1 qfe (Vo i) =l 7. faast 2@ (=) g s R 1 94 7@ fea s 8

3.4 wfeliy (Resistance)
w4 7 & f foet e | Sua i F TEE g S & TEied B WO 81 99 TaaE W TeE
nwmqmmmwmamamqmammfmammﬁmnmﬁzwm
T O WATE % WU A0 o9 8 T €, S WAt % M 4 309 st Wiei wwend 8
Y T2H W R g (FeE) 1 iAoy @ w1 9 59 aEE & ATEN 999 §
R, =R,(1+at);, W& « Wad4 9 0%, R, 0° C W W™ F1 7H €
=T (Conductance) G
i w1 Sfen dEa WA FEa € T 3R Q7 @1 6 (s) 7 €

G=1
R

3.5 fafyre wfmiu (Specific Resistance)
farm &= Ea WM o j (UHiF &9%e T Yafed UMW) F IgWa H A o fafre wfald @
sl wed €, 39 p W T4 & €
E
P=?
W T F ST T E W e & v W R w2
af= fEdl | s qon wiaeeR AEwd & fad WV favarm i fem w9 @@ Ses 0 3o
& & g

1‘."1':E

i

_

R LG J=
. . vil VA
FAfeg yfatre, p= - = —
il A i

'
p=R% {321[ I-R]

WRIARa @ WTE SER-HE g 8
TH® °F A oF e W fad s ¥ IEF WER AL WA, A9 AR U enfers a
=, 39 |1 gHe W w Ry =, @ et i gws &1 wiaouwm @ F FEE

Scanned with CamScanner



ELECTRICITY 35

1
. _6.25x 10" 3&wm T
1.6 x10? x 101 Ferr #

@ WU UF wfew UM €, 95 G ¥ # 6R & faw | wefia F@ € 9o 8 O A T
TR T & E

Example. 1. T% ¥/ & =97 § # UF Havz § 10" foagr 3% & & TRt dga umr &1
A &4 &8n?

Solution. T 3e@H W 3E7 = 1.6 x 10-1° C. & 3@ ¥&% = 109 x 1.6 x 10-9=1.6C

: 1 Fora a9 q

3.2 A = qyA agE 7@ (EMF)
e uftgw § W F Few wAE T @ & fad w6 e vgw €, 7w F g g fem s o§
W IHY F (TeEtE S9) & w9 § §iad @@ gl

T Son THE B W TAAE S 1 dgd w9 § uiEidd w0 ¢ 5 g wepl agn wie
§ wHiw WEN TEE 6 9 W S O @ 4gd 9ed 7d (EMF) Feen €1 AR g Fera e %
Tl wfiqw W WA B ¥ 30 WS & & W € 38 T 4 #9 w1 a9ga 9w 9d (EMF),

E= = g

Fig. 3.2
s T AEE VR Sa % i don am w e mw el | o S F SR CE 9w IR
(a5 R) F um A9 % uA W WU w2 B A e ¢ (Fig 3.2))

3.3 afigw @ fraq (Ohm’s Law)
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